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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 (a) 2231 1.5 0.7 2 76 99.7
1 (b) 2234 3.3 1.1 6 55.4 99.8
2 (a) 2226 2.3 0.8 3 78.3 99.5
2 (b) 2233 3.4 1.2 6 56.2 99.8
3 (a) 2220 2.3 1.3 4 56.8 99.2
3 (b) 2223 4 1.6 8 49.9 99.3
4 (a) 2173 2.6 1.4 6 43.5 97.1
4 (b) 2159 2.5 1.8 4 61.7 96.5
4 (c) 2165 3.7 1.9 8 46.5 96.7
4 (d) 2232 4.9 1.5 8 61.3 99.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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4 (d) Discuss the benefits and drawbacks to Premier Foods of spending large 
amounts of money on new technology.  [8] 


Band AO1  AO2  AO3 AO4  


2 marks 2 marks 2 marks 2 marks 


2 


2 marks 
 


Good 
understanding of 
the benefits and 
drawbacks of 
spending large 
amounts of 
money on new 
technology. 


2 marks 
 


Good 
application of 
the benefits and 
drawbacks of 
spending large 
amounts of 
money on new 
technology for 
Premier foods. 


2  marks 
 


Good analysis of the 
benefits and 
drawbacks of 
spending large 
amounts of money on 
new technology. 
 


A clear understanding 
of how high spending 
on technology might 
affect a company. 


2 marks 
 


Good, clear 
judgements are 
made on the 
benefits and 
drawbacks of high 
spending on 
technology. 
 


The evaluation will 
focus on key issues. 
 


The learner is likely 
to offer an overall 
conclusion. 


1 


1 mark 
 


Limited 
understanding of 
the benefits 
and/or 
drawbacks of 
spending large 
amounts of 
money on new 
technology. 


1 mark 
 


Limited 
application of 
the benefits 
and/or 
drawbacks of 
spending large 
amounts of 
money on new 
technology for 
Premier foods. 


1 mark 
 


Limited analysis of the 
benefits and/or 
drawbacks of 
spending large 
amounts of money on 
new technology. 
 
A superficial 
understanding of how 
high spending on 
technology might 
affect a company. 


1 mark 
 


Limited judgements 
are made on the 
benefits and/or 
drawbacks of high 
spending on 
technology. 
 


Judgements are 
relatively superficial 
and unsupported. 
 


The learner does not 
offer an overall 
conclusion. 


0 


0 marks 
 


No 
understanding of 
the benefits and 
drawbacks of 
spending large 
amounts of 
money on new 
technology. 


0 marks 
 


No application 
of the benefits 
and drawbacks 
of spending 
large amounts 
of money on 
new technology 
for Premier 
foods. 


0 marks 
 


No analysis of the 
benefits and 
drawbacks of 
spending large 
amounts of money on 
new technology. 
 


No understanding of 
how high spending on 
technology might 
affect a company. 


0 marks 
 


No evaluation 
offered of the 
benefits and 
drawbacks of high 
spending on 
technology. 
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Indicative content: 
 
Benefits: 


 Speed -new technology will increase the speed of production, e.g. 60,000 
cake slices an hour can be produced. 


 


 Capacity – new technology may make it possible for the production line to be 
operated for longer periods, e.g. Premier Foods will have people working on 
the new line in three different shifts, operating throughout the day and night. 


 


 Quality – quality and precision may be improved. 
 


 Reduced waste – new technology may mean less waste and therefore lower 


costs. 
 


 Efficiency – the new line should be more efficient and have lower costs per 
unit. Spending on new computers and internet facilities may make 
communication more efficient. 


 


 Administration tasks may be carried out more quickly with new office 


equipment. 
 


 Mobile technologies can be used to communicate inside the Company and 


with suppliers, customers, etc. 
 


 Any other valid benefit. 
 


Drawbacks 


 


 Cost – the capital cost of the new technology has to be recouped. (e.g. £20 
million for the new production line). 
 


 Training of staff will cost time and money. 


 


 Teething Problems – new technology often brings with it teething problems 
which may disrupt operations. 


 


 Employee Reaction – some employees may not welcome new technology or 


change. Their jobs may be de-skilled. It may create industrial relations 


problems. 


 


 Any other valid drawback. 


 


New technology should offer many benefits, but there may also be drawbacks, 
especially initially. It may be necessary to introduce new technology just to keep up 
with the competition. The success of new technology may depend on employee 
reaction. 
  












3 marks



Sticky Note

A valid but basic AO1 marks



Sticky Note

This would require further explanation as the outcome has not been reasoned through.



Sticky Note

Some misunderstanding here and misinterpretation of the data. 240 metres is the length of the production line.  The new line produces 60 000 cakes slices per hour. 



Sticky Note

Some understanding of a disadvantage with some use of the context (if demand drops the investment may be wasted) which would achieve low level AO2.  



Sticky Note

An understanding using the context has been considered here.  i.e. the production line will also have ongoing costs. An attempt has also been made to progress the line of argument in an attempt to achieve AO3.



Sticky Note

Overall this candidate scores
AO1 - 1 
AO2 - 1
AO3 - 1
AO4 - 0












5 marks



Sticky Note

A basic AO1 mark



Sticky Note

An attempt here to link effects and knock on effects for AO3 marks.



Sticky Note

Another valid AO1 point making reference to the case (AO2).



Sticky Note

Some judgement made here for low level AO4.  In terms of terminology the candidate would do better to refer to the increased profit as a consequence of a lower cost base achieved through a lower wage bill.



Sticky Note

A suitable disadvantage (AO1) which relates to the context (AO2).



Sticky Note

A suitable attempt at expanding the effects  of this situation.  This has enabled the student to access AO3 marks.



Sticky Note

Although the point is not particularly expressed there is an attempt to consider the effects of redundancies upon the company's sales.



Sticky Note

AO1-2
AO2-2
AO3-1
AO4-0
Overall, the student has produced a range of points for and against Premier Foods spending large amounts of money on new technology.  This student would have made improvements to their work if they had recognised the 'Discuss' trigger word and created evaluation in their work.












7 marks



Sticky Note

A valid point for AO1



Sticky Note

Here the point starts to build and give reasoning for AO3



Sticky Note

Here we see the knock on effect for the developed AO3 mark.



Sticky Note

Again, follow on effects are noted in a continuous line of thought to build AO3 marks.



Sticky Note

This should be the start of a new paragraph as this is a new point.



Sticky Note

Some good business terminology is utilised in supporting this argument.



Sticky Note

Again, effect and knock on effect are noted which has led to a developed AO3 mark.



Sticky Note

Here the candidate turns the argument to look at the other side in an attempt to balance the argument.  Again, this should be the start of a new paragraph.



Sticky Note

A suitable point for AO1.



Sticky Note

Impact of the decision short term is noted here.  This sets the student up to discuss the follow on effect for AO3.



Sticky Note

A suitable point made.  This could have gone further to judge the severity of this for AoO4.



Sticky Note

This should have been the start of a new paragraph but nevertheless is a valid point.



Sticky Note

This use of theory to build the point makes excellent use of business studies theory and helps to develop AO1 and AO3 marks.



Sticky Note

AO1 - A good understanding of the benefits and drawbacks of spending large amounts of money on new technology is clear and makes good use of business terminology. (2)
AO2 - Good use of the case in terms of explaining the impact of this purchase. (2)
AO3 - A clear understanding of the effects and knock on effects was apparent throughout the answer. (2)
AO4 - Some attempt at judgement is made although this is not strong throughout the piece and is not highlighted in an overall conclusion. (1)












8
Examiner


only
4.	 An Exceedingly Good Expansion


	 Britain is clearly a nation of cake-eaters. Not only do we gobble up 240 million Mr Kipling cake 
slices a year but such is the demand for ‘exceedingly good’ French Fancies and Battenberg 
cakes that Premier Foods is expanding. 


	 The country’s largest food manufacturer has opened a new production line at its factory in 
Carlton, South Yorkshire, which will more than double the capacity of Mr Kipling, its top-selling 
brand. The new production line cost £20 million and was partly financed by Premier Foods 
selling its Hovis brand.


	 Gavin Darby, chief executive of Premier Foods, said that when the new line was working at full 
speed it would be able to produce an additional 300 million cakes a year. ‘We have been at 
maximum capacity for a while now. The new production line is a very high-tech automated line 
that is 240 metres long and can make 60 000 cake slices an hour. We will have people working 
on it in three different shifts, operating throughout the day and night.’


	 Cakes are just one of the products in Premier Foods product portfolio. Other products include 
custard, jam, flour, cooking sauces and gravy. In the year ended 4th April 2015 they made 
£294m gross profit and £131m net profit on sales turnover of £767m.


Adapted: The Times July 14th 2015
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only
	 (d)	 Discuss the benefits and drawbacks to Premier Foods of spending large amounts of 


money on new technology. 	 [8]
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SECTION B


Answer one question from this section.


5.	 Good Leadership – A Guarantee of Success?


	 (a)	 Describe the different leadership styles which might be used by a manager of a 
supermarket. 	 [10]


	 (b)	 Consider the importance of good leadership to the success of a business.	 [15]


6.	 The Price is Right?


	 (a)	 Describe the pricing strategies which might be used by a fast-food business such as 
Subway, KFC or McDonalds.	 [10]


	 (b)	 ‘Charging the correct price is the most important element of the marketing mix.’ Discuss 
this statement. 	 [15]


7.	 Quality Clothing?


	 (a)	 Identify the methods of improving quality which might be used by a multinational clothing 
manufacturer. 	 [10]


	 (b)	 Discuss the impact of improving quality on the stakeholders of a business.	 [15]


© WJEC CBAC Ltd.
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6 (a) Describe the pricing strategies which might be used by a fast-food business 
such as Subway, KFC or McDonalds. [10] 


 


Band AO1  AO2  


 6 marks 4 marks 


 
 
 
3 


5-6 marks 
 


Excellent understanding of more 
than two types of pricing strategies. 
 
Clear understanding of the different 
features of the pricing strategies. 


 


 
 


 
 
2 


3-4 marks 
  


Good understanding of at least two 
types of pricing strategies. 
 
The learner identifies the different 
features of the pricing strategies. 
 


3-4  marks 
 


The learner applies pricing strategies to the 
context of a fast-food business. 
 
Good understanding of how a fast-food 
business might use different pricing 
strategies. 
 
There is direct and clear reference to the sale 
of fast-food to support points. 


 


1 


1-2 marks 
 


Limited understanding of one or 
two types of pricing strategies. 
 
Superficial understanding of the 
different features of the pricing 
strategies. 
 
The learner may only identify one 
pricing strategy. 


 


1-2 marks 
 


There is limited application to the context of a 
fast-food business. 
 
Suggestions of the use of pricing strategies 
are generic and may not be suitable for fast-
food. 
 
At least one pricing strategy is applied to the 
context of selling fast-food. 


 
.  


 
0 


0 marks 
 


Little or no understanding of pricing 
strategies. 


 


0 marks 
 


No specific application of pricing strategies to 
the context of selling fast-food. 
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Indicative content: 
 
Pricing strategies may include: penetration pricing, market skimming, cost based pricing, 
competition based pricing. 
 


 Penetration pricing – charging a low price in order to penetrate into the market. This 
may be used to enter the market where there is much competition.  This would be 
used by fast-food businesses as there is already a lot of competition in the market. 
They may use it for new products, e.g. a new burger. 


 


 Market skimming – charging a high price usually because of an innovative product, 
e.g. a new burger type that the competition do not have.  A high price will be charged 
until competitors enter the market. They could also use this for innovative services, 
e.g. a delivery service that is not offered by competitors. 
 


 Cost based pricing - this ignores market prices but ensures that companies cover 
their costs. It may be appropriate where a great deal has been spent on the 
Research and Development of a new type of fast-food. 
 


 Competition based pricing – with high levels of competition in the fast-food market, 
those companies without an innovative product may have to follow the lead of 
competitors on pricing. 
 


 Psychological pricing – selling products or ‘meal deals’ for a price just below a round 
figure, e.g. £1-99 is common in the fast-food market. 
 


 Contribution pricing – this may be used so that large companies with many products 
can price some more competitively if necessary, and respond to the pricing strategies 
of their competitors, whilst still covering indirect costs. 
 


 Give some credit for tactics such as special offers, BOGOF, competitions, giveaways 
if examples included. 
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6 (b) 
‘Charging the correct price is the most important element of the marketing mix.’ 


Discuss this statement.  [15] 


Band AO1  AO3 AO4  


3 marks 6 marks 6 marks 


3 


3 marks 
 


The learner demonstrates 
excellent understanding of 
the marketing mix. 
 


A clear understanding of 
the interaction of the 4 
elements of the marketing 
mix is included. 


 


5-6 marks 
 


The learner gives an 
excellent analysis of the 
interaction of the 4 Ps. 
 
The analysis is balanced 
and detailed. 
 


The relative importance of 
each element of the 
marketing mix is discussed. 
 
Key issues have been well-
developed with a clear line 
of argument. 
 


In-depth analysis required 
for this band. 


 


5-6 marks 
 


The learner gives an 
excellent evaluation of the 
interaction of the 4 Ps.  
 


The evaluation is balanced 
and detailed. 
 


The evaluation provides a 
balanced argument of the 
relative importance of each 
element of the marketing 
mix.  
 


Clear judgements are made 
with supporting statements 
to build an argument. 
 


An holistic evaluation may 
be offered with an overall 
conclusion. 


2 


2 marks 
 


The learner demonstrates a 
good understanding of the 
marketing mix. 
 


A good understanding of 
the interaction of the 4 
elements of the marketing 
mix is included. 


 
 


3-4 marks 
 


The learner gives a good 
analysis of the interaction of 
the 4 Ps. 
 


The analysis is uneven with 
some well-developed points 
and others which are more 
limited in their development. 
 
The relative importance of 
each element of the 
marketing mix is identified. 
 


A number of key issues are 
developed. 


 


3-4 marks 
 


The learner gives a good 
evaluation of the interaction 
of the 4 Ps.  
 


The evaluation provides a 
reasonably well balanced 
argument of the relative 
importance of each element 
of the marketing mix.  
 


The learner makes 
judgements with some 
attempt to support their 
evaluation. 
 


The answer may contain a 
brief conclusion. 
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1 


1 mark 
 


The learner demonstrates a 
limited understanding of the 
marketing mix. 
 
A superficial understanding 
of the interaction of the 4 
elements of the marketing 
mix is included. 


 


1-2 marks 
 


The learner gives a limited 
analysis of the interaction of 
the 4 Ps. 
 
Superficial discussion on 
the relative importance of 
each element of the 
marketing mix. 
 
Some elements of the 
marketing mix may not be 
analysed. 
 
A limited number of key 
issues are analysed. 


1-2 marks 
 


The learner gives a limited 
evaluation of the interaction 
of the 4 Ps.  
 
The learner shows an 
awareness of some of the 
key issues but with limited 
development. 
 
Judgements are superficial 
and unsupported. 
 
The evaluation is uneven 
and focuses more on some 
elements of the marketing 
mix than on others. 
 
Evaluation is not explained. 
 


There is no conclusion. 


0 


0 marks 
 


The learner demonstrates 
no understanding of the 
marketing mix. 


 
 


0 marks 
 


The learner makes little or 
no analysis of the relative 
importance of each element 
of the marketing mix. 


 


0 marks 
 


The learner makes no 
meaningful evaluation of 
the relative importance of 
each element of the 
marketing mix. 


 


 
Indicative content: 
 
 


Price is very important: 
 


 Too high – if the price is set too high then demand will be low and costs may not be 
covered. 
 


 Too low – if the price is set too low the customer may doubt the quality and reliability 
of the product and sales will fall. Customers may doubt the prestige of the product.  
Costs may not be covered. 
 


 Elasticity – depending on whether the product or service is seen as a necessity or a 
luxury, recognising price elasticity of demand and setting the correct price is essential 
to avoid falling revenue. 
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However 
 
The other elements of the marketing mix are also important: 
 


 Product – a high quality, innovative, aesthetically pleasing or technically advanced 
product can command higher prices. 
 


 Promotion – sales may depend on the amount of promotion for the product or 
service. A highly visible advertising campaign for instance may increase sales 
whatever the price charged. 
 


 Place – customers need to be able to access the product or service. Some outlets 
may mean that a higher price can be charged eg upmarket retailers. 
 


 External  factors – economic circumstances may mean that price is less important, 
e.g. in a ‘boom’. Tastes or fashion may change. 
 


 No one aspect of the marketing mix is more important than the others. The relative 
importance varies over time and depends on the nature of the product or service and 
also external factors. 
 


 Any other relevant suggestion. 
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SECTION B


Answer one question from this section.


5.	 Good Leadership – A Guarantee of Success?


	 (a)	 Describe the different leadership styles which might be used by a manager of a 
supermarket. 	 [10]


	 (b)	 Consider the importance of good leadership to the success of a business.	 [15]


6.	 The Price is Right?


	 (a)	 Describe the pricing strategies which might be used by a fast-food business such as 
Subway, KFC or McDonalds.	 [10]


	 (b)	 ‘Charging the correct price is the most important element of the marketing mix.’ Discuss 
this statement. 	 [15]


7.	 Quality Clothing?


	 (a)	 Identify the methods of improving quality which might be used by a multinational clothing 
manufacturer. 	 [10]


	 (b)	 Discuss the impact of improving quality on the stakeholders of a business.	 [15]


© WJEC CBAC Ltd.







Sticky Note

A clearer start would have been to outline some pricing strategies.  These could then be discussed in the main body of the text.



Sticky Note

'Low prices' does not demonstrate a significant knowledge of pricing strategies.



Sticky Note

It isn't clear where the student is going with this answer.  In general it is not good practice to pose questions during an answer.



Sticky Note

The student has not demonstrated an understanding of psychological pricing at this point therefore has not accessed AO1 marks.



Sticky Note

Although loss leaders are a tactic this was accepted in the mark scheme as suitable for AO1.







4 
marks



Sticky Note

Some lack of clarity in the first part of this answer.  However, the student goes on to an acceptable statement regarding McDonalds 99p menu.  Therefore this has achieved a low level AO2 mark.



Sticky Note

This example is better than that of the previous paragraph.  This is also an acceptable description of price skimming.



Sticky Note

Overall this candidate scores 
AO1-2
AO2-2
A limited understanding of two valid methods was in evidence and an attempt to apply each had been made. 



Sticky Note

A good definition to start.







Sticky Note

A valid understanding of the effect of incorrect pricing with some judgement made on the consequences for AO4



Sticky Note

This is a possibility.  Some goods may seem suspiciously cheap and therefore deter customers.



Sticky Note

Although there are no AO2 marks available for this question, the example has helped develop the explaination and therefore has helped to student in gaining AO3 marks.







9 marks



Sticky Note

A reasonable point making use of a new section in the marketing mix.  This has helped the student to develop their AO3 mark.



Sticky Note

Fair points although they could be developed more fully.  In not doing so the student has been unable to access high level AO3 marks.  There may be a sense here that the student was running out of time towards the end of their exam.



Sticky Note

Overall, the student achieves:
AO1-2
AO3-4
AO4-3
A good attempt at the question but hampered by the limited discussion of place and promotion.
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SECTION B


Answer one question from this section.


5.	 Good Leadership – A Guarantee of Success?


	 (a)	 Describe the different leadership styles which might be used by a manager of a 
supermarket. 	 [10]


	 (b)	 Consider the importance of good leadership to the success of a business.	 [15]


6.	 The Price is Right?


	 (a)	 Describe the pricing strategies which might be used by a fast-food business such as 
Subway, KFC or McDonalds.	 [10]


	 (b)	 ‘Charging the correct price is the most important element of the marketing mix.’ Discuss 
this statement. 	 [15]


7.	 Quality Clothing?


	 (a)	 Identify the methods of improving quality which might be used by a multinational clothing 
manufacturer. 	 [10]


	 (b)	 Discuss the impact of improving quality on the stakeholders of a business.	 [15]


© WJEC CBAC Ltd.







Sticky Note

An accurate description of price skimming which moves in to a valid example



Sticky Note

Another valid method as tactics were accepted on the mark scheme.  The example of 'chips' is a well executed point for AO2 which shows a good understanding of this method in context.







8 marks



Sticky Note

A third valid method is used here and the use of the context is again impressive scoring good AO2 marks.



Sticky Note

Again, a good use of the context for this low priced eating experience.



Sticky Note

The student is slightly off target here with their terminology, but is clearly discussing competitor based pricing.



Sticky Note

AO1-4
AO2-4
This student was clearly able to make good use of the context here when discussing the pricing strategies. 
Some terminology issues but the student made good use of pricing strategies during their answer.







Sticky Note

Although it would have been better to start with a definition, this is not essential.  The student has offered some formative implications of price and the effect on demand to access AO3 marks.



Sticky Note

Although the student is demonstrating some knowledge of pricing strategies, part (b) should focus on AO3 and AO4 skills.  



Sticky Note

Some formative judgement has been made for AO4.  However, supported judgements will always score more highly.



Sticky Note

This is better as a sense of why promotion is important has been outlined by the candidate.   The student goes on to build an explanation therefore this paragraph scores both AO3 and AO4 marks.







Sticky Note

Reasoning is present in this part of the response moving in to a valid judgement in the last sentence.



Sticky Note

Further understanding of the marketing mix is demonstrated.  This assists the student's AO1 mark.



Sticky Note

Although AO2 marks are not available, the student has used the example of Apple in order to assist their explaination.  This has helped in developing good AO3 marks and also aided in creating judgement (AO4)



Sticky Note

Here the student completes their paragraphs on the marketing mix.  Although not as strong as some other paragraphs, this paragraph again ends in suitable judgement.







12 marks



Sticky Note

AO4 is achieved here by considering the interelationship between the elements of the marketing mix in order to produce a good valid conclusion



Sticky Note

AO1-3
AO3-5
AO4-4
Overall, a well constructed and considered answer.












3 
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SECTION B


Answer one question from this section.


6.	 The Price is Right?


	 (a)	 Describe the pricing strategies which might be used by a fast-food business such as 
Subway, KFC or McDonalds.	 [10]


	 (b)	 ‘Charging the correct price is the most important element of the marketing mix.’ Discuss 
this statement. 	 [15]
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SECTION B


Answer one question from this section.


5.	 Good Leadership – A Guarantee of Success?


	 (a)	 Describe the different leadership styles which might be used by a manager of a 
supermarket. 	 [10]


	 (b)	 Consider the importance of good leadership to the success of a business.	 [15]


6.	 The Price is Right?


	 (a)	 Describe the pricing strategies which might be used by a fast-food business such as 
Subway, KFC or McDonalds.	 [10]


	 (b)	 ‘Charging the correct price is the most important element of the marketing mix.’ Discuss 
this statement. 	 [15]


7.	 Quality Clothing?


	 (a)	 Identify the methods of improving quality which might be used by a multinational clothing 
manufacturer. 	 [10]


	 (b)	 Discuss the impact of improving quality on the stakeholders of a business.	 [15]
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7 (a) Identify the methods of improving quality which might be used by a 
multinational clothing manufacturer.  [10] 
 


Band AO1  AO2  


 6 marks 4 marks 


 
 
 
 


3 


5-6 marks 
 


Excellent understanding of the key 
methods of improving quality. 
 
Clear understanding of the features 
of the key methods of improving 
quality. 


 


 
 
 
 
 
2 


3-4 marks 
  


Good understanding of the key 
methods of improving quality. 
 
The learner identifies the features 
of the key methods of improving 
quality. 
 


3-4  marks 
 


The learner applies key methods of improving 
quality to the context of a multinational 
clothing manufacturer 
 
Good understanding of how and why a 
multinational clothing manufacturer might use 
key methods of improving quality. 
 
There is direct and clear reference to the large 
scale manufacture of clothing in a 
multinational company to support points. 


 


 
 
1 


1-2 marks 
 


Limited understanding of the key 
methods of improving quality. 
 
 
Basic description of methods of 
improving quality. 


1-2 marks 
 


The learner attempts limited application to the 
context of a multinational clothing 
manufacturer. 
 
Suggestions of  methods of improving quality 
are generic and may not be applicable to the 
large scale manufacture of clothing in a 
multinational company. 


 


 
 
0 


0 marks 
 


Little or no understanding of the 
key methods of improving quality. 


 


0 marks 
 


No specific application of key methods of 
improving quality to the context of the large 
scale manufacture of clothing in a 
multinational company. 
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Indicative content: 
 


 Quality control – to ensure that the product meets standards. Price charged may depend 
on the quality of the clothing. 
 


 Quality Assurance and Total Quality Management – a large multinational company may 
well use this system, including quality chains, zero defects, quality circles, 
empowerment, monitoring, teamwork, benchmarking. 
 


 Train staff so that fewer mistakes are made. In a multinational company, much of the 
production may be carried out in countries with poor education standards.  
 


 To follow fashion there may be frequent changes to the styles which are made. This will 
require frequent training to ensure quality standards are  maintained. 
 


 Invest in new machinery which may be more accurate. A large scale manufacturer of 
clothing is likely to be highly capital intensive. 
 


 Any other relevant suggestion. 
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7 (b) Discuss the impact of improving quality on the stakeholders of a business. [15] 


Band 
AO1  AO3 AO4  


3 marks 6 marks 6 marks 


3 


3 marks 
 


The learner demonstrates 
excellent understanding of 
stakeholders and their 
interests. 
 


There is a clear 
understanding of the 
contrasting objectives of 
key stakeholders. 
 


The key effects and impact 
of improving quality of 
products on different 
stakeholders are identified. 


5-6 marks 
 


The learner gives an 
excellent analysis of the 
impact of improving the 
quality of products on key 
stakeholders. 
 


The analysis is balanced 
and detailed. 
 


Key issues have been well-
developed with a clear line 
of argument. 
 


Analysis will be supported 
by specific reference to how 
improving the quality of 
products will affect the 
business and how this will 
impact on key stakeholders. 
 


In-depth analysis required 
for this band. 


5-6 marks 
 


The learner gives an 
excellent evaluation of the 
impact of improving the 
quality of products on key 
stakeholders. 
 


The evaluation is balanced 
and detailed and will focus 
on the key issues. 
 


The evaluation provides a 
balanced argument as to 
the impact on key 
stakeholders. 
 


Clear judgements are made 
with supporting statements 
to build an argument. 
 


An holistic evaluation may 
be offered with an overall 
conclusion. 


2 


2 marks 
 


The learner demonstrates a 
good understanding of 
stakeholders and their 
interests. 
 


The learner identifies some 
contrasting objectives of 
key stakeholders. 
 


The learner makes an 
attempt to identify some of 
the key effects and impact 
of improving quality of 
products on stakeholders.  


3-4 marks 
 


The learner gives a good 
analysis of the impact of 
improving the quality of 
products on key 
stakeholders. 
 


The analysis is uneven with 
some well-developed points 
and others which are more 
limited in their development. 
 


A number of key issues 
have been developed.  
 


Analysis will be supported 
by some reference to how 
improving the quality of 
products will affect the 
business and how this will 
impact on key stakeholders.  


3-4 marks 
 


The learner gives a good 
evaluation of the impact of 
improving the quality of 
products on key 
stakeholders. 
 


The evaluation is 
reasonably well balanced 
between stakeholders.  
 


The evaluation will include 
some of the key issues. 
 


The answer may contain a 
brief conclusion. 
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1 


1 mark 
 


The learner demonstrates a 
limited understanding of 
stakeholders and their 
interests. 
 


Understanding is 
superficial. 
 


The learner may list the key 
stakeholders in a business. 


 


1-2 marks 
 


The learner gives a limited 
analysis of the impact of 
improving the quality of 
products on key 
stakeholders. 
 


Analysis may not include 
some key stakeholders.  
 


A limited number of issues 
are analysed. 
 


Superficial discussion of the 
effect of improving the 
quality of products and how 
this will impact on key 
stakeholders.  


1-2 marks 
 


The learner gives a limited 
evaluation of the impact of 
improving the quality of 
products on key 
stakeholders. 
 


The learner shows an 
awareness of some of the 
key issues but with limited 
development. 
 


Judgements are superficial 
and unsupported. 
 


The evaluation is uneven 
and focuses more on some 
stakeholders than others. 
 


Evaluation is not explained. 
 


There is no conclusion. 


0 


0 marks 
 


The learner demonstrates 
no understanding of 
stakeholders. 
. 


0 marks 
 


The learner makes little or 
no meaningful analysis of 
the effect of improving the 
quality of products and how 
this will impact on key 
stakeholders. 


0 marks 
 


The learner makes no 
meaningful evaluation of 
the effect of improving the 
quality of products and how 
this will impact on key 
stakeholders. 


 


Indicative content: 


 A stakeholder  is anyone who has a direct or indirect interest in the activities of a 
business. 
 


 Shareholders – should find that improving the quality of the product leads to higher 
profits and therefore maybe higher dividends. However, there may be an initial cost to 
improving the quality of the product and this may affect dividends in the short term. 
 


 Employees – may feel more motivated if they are involved in quality initiatives. Producing 
a higher quality product may be more rewarding. However, new techniques or new 
machinery or training may be stressful for employees. 
 


 Customers – will benefit from higher quality products. However, they may be charged 
more for the products. 
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 Competitors – may have to respond by improving the quality of their  products. However, 
it might be the case that they can under-cut prices with products of a slightly lower level 
of quality. 
 


 Management – may be motivated by bringing in new quality initiatives and seeing the  
quality of the product improve. However, the drive to improve the quality of the product 
may be stressful, especially if there is employee resistance to change. 
 


 Suppliers – may be able to charge higher prices for higher quality raw materials and 
components. However, there may be great pressure to meet standards which require 
capital expenditure and new systems or ways of working. 
 


 Local communities –Should not be directly affected by a company improving the quality 
of the product unless the company  looks for new suppliers  (if suppliers are currently 
local). 
 


 Improving the quality of the product impacts on nearly all stakeholders to some extent. 
Whilst it has a positive impact in many cases, it also has a negative impact for some 
stakeholders. It may depend on how big the necessary changes are and how 
stakeholders react to the changes. 
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SECTION B


Answer one question from this section.
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	 (a)	 Describe the different leadership styles which might be used by a manager of a 
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Subway, KFC or McDonalds.	 [10]


	 (b)	 ‘Charging the correct price is the most important element of the marketing mix.’ Discuss 
this statement. 	 [15]


7.	 Quality Clothing?


	 (a)	 Identify the methods of improving quality which might be used by a multinational clothing 
manufacturer. 	 [10]


	 (b)	 Discuss the impact of improving quality on the stakeholders of a business.	 [15]


© WJEC CBAC Ltd.







Sticky Note

Benchmarking could be used in order to set a quality standard.  This is a key element within total quality management therefore demonstrates an understanding of the key methods for AO1.



Sticky Note

Some attempt to use the context of clothing as a competitive trading environment with a link made to the effect on brand image (AO2)



Sticky Note

Quality control is another key method to ensure the product meets standards (AO1)



Sticky Note

Here the student has used the term clothing which does not signify a strong grasp of the scenario for AO2 marks.  



Sticky Note

The link to quality and brand is again noted.  This is a reiteration of the earlier point for AO2 marks.



Sticky Note

A further method, quality assurance, is identified for AO1 marks.  The candidate then goes on to develop the implications of this method in an effective manner.



Sticky Note

TQM is identified and developed.  To be even more effective the candidate could have tackled the separate elements of TQM in order to generate a strong series of paragraphs.







Q7a: 6 marks



Sticky Note

Overall, this candidate demonstrates an excellent knowledge of the methods used to improve quality.  
Aside from the link being established between quality and brand image in a competitive market there is little use of the scenario for application marks.




Sticky Note

Customers are identified as a stakeholder.  Although AO1 is gained here a better start may have been to define stakeholders and name some types which will be tackled later in the answer.



Sticky Note

Development of the effect has been noted here for AO3 with a possible knock on effect showing the ability to develop point.



Sticky Note

Competitors are another valid stakeholder group.



Sticky Note

Impact on the competitors is made clear.  This is further developed with the idea of some competitors possibly leaving the market.



Sticky Note

A01 (5)
A02 (1)








Sticky Note

The argument reaches its conclusion here with a a judgement on the level of impact moving the student towards AO4.



Sticky Note

Again, the candidate leads by identifying another stakeholder group.  At this stage the candidate is demonstrating knowledge of a range of stakeholders.



Sticky Note

The link between quality assurance as a method and how staff may respond to the technique is a good link.  This helps the student build their AO3 mark throughout the paragraph.



Sticky Note

Here we can see that the objective of an owner may be met by improving quality.  This straightforward piece of analysis helps demonstrate why an owner may be interested in improving quality.







Q7b: 10



Sticky Note

This is the first real attempt to offer the other side of the argument.  As a result, this answer although good, stays in level 2 for AO3 because it is unbalanced.  
Students should aim to give equal attention to both sides of the argument.



Sticky Note

A clear attempt to secure AO4 marks.  However, this is fairly general as a piece of evaluative work.  If the student had offered a balanced discussion it would have made weighing up the discussion easier.



Sticky Note

This student has gone for a 2 stage conclusion and in this paragraph idenitfies which stakeholder is most affected and why.  This piece of writing overall offers some good AO4 points.



Sticky Note

AO1 - (3 marks) There is a clear understanding of the contrasting objectives of stakeholders.
AO3 - (4 marks) Good analysis but this is unfortunately uneven with some well developed points.
AO4 - (3 marks) A conclusion is certainly in evidence and has good points.  However, it could be considered generic and lacking clear evidence.
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Q7a: 5



Sticky Note

AO1 - Identification of TQM as a method and an indication of an impact throughout the chain.
AO2 - Some indication of a large firm with departments making arrangements with suppliers.




Sticky Note

Quality control is another valid method.  The student shows some development of their understanding of this process.



Sticky Note

Quality assurance is identified as a method and some detail is added.  However, this still falls short of excellent knowledge.



Sticky Note

Kaizen will impact upon quality. Although some detail has been added to a number of methods all of these are brief and therefore AO1 can only be classed as good.



Sticky Note

AO2 has been weakly applied at the start of the answer and the student has made little use of the context in the overall answer therefore has only managed to achieve 1 mark for AO2.



Sticky Note

AO1 - 4 + AO2 -1







7b: 6 marks



Sticky Note

At this point the student has identified a relevant stakeholder and noted the implication of improving quality for this group.  This goes on to build the AO3 mark by discussing a further implication of establishing customer loyalty.



Sticky Note

Depends on is a good way of developing evaluation skills within an answer as it can demonstrate judgement of the suitability of actions under differing circumstances.



Sticky Note

In the early part of this paragraph the student is not saying anything of great merit as the response is generic.



Sticky Note

An attempt is made here to turn the argument around and offer another side of the discussion.



Sticky Note

Here the student has attempted to bring in theory to back the argument.  This helps to support the discussion in a business context.



Sticky Note

A judgement is made but is unsupported. As a result the student scores 
AO1-2
AO3-3
AO4-1
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SECTION B


Answer one question from this section.


7.	 Quality Clothing?


	 (a)	 Identify the methods of improving quality which might be used by a multinational clothing 
manufacturer. 	 [10]


	 (b)	 Discuss the impact of improving quality on the stakeholders of a business.	 [15]
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